Choose the correct answer

1. In the film The Flight of the Doves, the policeman speaks to the little girl in ...
a. an arrogant way.
b. a friendly way.

c. a confused way.

2. Patrick first travelled to Ireland because he ...
a. was forced to go.
b. wanted to teach people about God.

c. wasill.

3. Scientists believe that Ireland has no native snakes because ...
a. of the country’s location.
b. Saint Patrick chased them into the sea.

¢. the snakes come from other countries.

4, Saint Patrick’s Day is the world’s most popular ...
a. celebration.
b. ancestral celebration.

c. festival from just one country.

5. The number of people who walk in the Saint Patrick’s Day parade in New York is ...
a. over a hundred thousand.
b. over a million.

c. less than in Dublin.

6. The parade in the village of Dripsey is famous because it ...
a. was not very long.
b. was between two well-known pubs.

c. included old tractors.
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7. In Chicago, the river is always green on Saint Patrick’s Day because of ...
a. a special green chemical.
b. small plants in the river.

c. special lights on boats.

8. In Ohio, special green beer is usually drunk by ...
a. people over 70 years old.
b. the Irish community.

c. students.
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